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5 STATA1l

5-1 27

xtreg 151 tfp va 51, fe

i51 | Coef. Std. Err t P>|t] [95% Conf. Interval]

tfp_va 51 .0001701  .0000431 3.95 0.000 .000085 .0002553

_cons -.0091703  .0045985 -1.99 0.048 -.0182514  -.0000891
_____________ A

xtreg 151 tfp_go 51, fe

i51 | Coef. Std. Err. t P>t [95% Conf. Interval]
_____________ e 2

tfp_go_51 .0003774  .0000869 4.34 0.000 .0002058 .000549

—cons -.0299993 .008966 -3.35 0.001 -.0477054 -.0122932
_____________ o

xtreg x51 tfp va 51, fe

x51 | Coef Std. Err t P>|t] [95% Conf. Interval]
tfp_va 51 | .0002011 .0000873 2.30 0.022 0000288 .0003734
—cons | -.0069011 .0093051 -0.74 0.459 0252769 .0114747
_____________ +__________________________________________________________________

xtreg x51 tfp_go 51, fe

x51 | Coef. Std. Err. t P>t [95% Conf. Interval]
_____________ e 2

tfp_go_51 .0004165  .0001774 2.35 0.020 .0000661 .0007668

_cons -.0284639  .0183003 -1.56 0.122 -.0646035 .0076757
_____________ o

xtreg t51 tfp va 51, fe

t51 | Coef Std. Err t P>|t] [95% Conf. Interval]

tfp_va 51 .0003712  .0001211 3.06 0.003 .000132 .0006105

_cons -.0160714  .0129178 -1.24 0.215 -.0415816 .0094389
_____________ A

xtreg t51 tfp_go 51, fe

t51 | Coef. Std. Err. t P>t [95% Conf. Interval]
_____________ e 2

tfp_go_51 .0007939  .0002457 3.23 0.001 .0003087 .001279

_cons -.0584632  .0253426 -2.31 0.022 -.1085099 -.0084165
_____________ o

xtreg ci5l tfp va 51, fe

tfp_va_ 51 -.0009698  .0003443 -2.82 0.005 -.0016498 -.0002898
_cons -5493189 .036718 14.96 0.000 .4768079 .6218299
_____________ A



xtreg 164 va con_tfp 64, fe

_____________ o

[95% Conf.
_____________ e

_____________ A o

[95% Conf.
_____________ e

_____________ o

[95% Conf.
_____________ e

i64 | Coef. Std. Err
va_con_tf~64 .0000698  .0000419
_cons .0071899  .0003203
xtreg 164 go_con_tfp 64, fe
164 | Coef. Std. Err.
go_con_tf~64 .0000462  .0000248
_cons .0064324  .0001083
xtreg t64 go _con_tfp 64, fe
164 | Coef. Std. Err
go_con_tf~64 .0001114 0000654
_cons .0177506 .000286
xtreg ci64 tfp va 64, fe
ci6sd | Coef. Std. Err.
tfp_va 64 .0002662  .0000675
_cons .4695169  .0086851
xtreg ci6é4 tfp_go 64, fe
ci64 Coef. Std. Err
tfp_go_64 .0005433  .0001436
_cons .4417148  .0163039

_____________ o

xtreg 171 74 tfp_va_71 74, fe

i71 74 Coef. Std. Err
tfp va 71 74 -.0005641 .000124
_cons .0885137  .0116031

i71 74 Coef. Std. Err
tfp_go 71 74 -.000955 .0002173
_cons .1274218  .0208448

i71 74 Coef. Std. Err
go_con_tf~74 -.0004308 .0002069
_cons .0329875  .0005655

-.0000129
.0065572

-2.86e-06
.0062182

-.000018
.017185

.0001328
.4523655

.0002597
.4095176

-.000809
.0655998

-.0013842
.0862572

-.0008399
.0318693

.0001524
.0078226

Interval]

.0000952
.0066467

Interval]

.0002408
.0183162

Interval]

.0003996
.4866684

.0008269
.4739119

-.0003191
.1114276

-.0005258
.1685864

-.0000217
.0341058
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xtreg x71 74 tfp va 71 74, fe

tfp_va_71_74 -.0006184  .0001423 -4.35 0.000 -.0008994  -.0003375
_cons .0974629 0133091 7.32 0.000 .0711799 .1237458

tfp_go 71 _74 -.0010756  .0002484 -4.33 0.000 -.0015662 -.000585
_cons .1428607  .0238293 6.00 0.000 .0958025 .189919

tfp_va 71 74 | -.0011825 .0002619  -4.51 0.000  -.0016997 -.0006653
"~ cons 11859766  .0244998  7.59  0.000 11375943 2343589

tfp_go 71 _74 -.0020306  .0004581 -4.43  0.000 -.0029352 -.001126
_cons .2702825  .0439363 6.15 0.000 .1835168 .3570482

ci7l 74 | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ e

tfp_va 71 74 | -.0010153 .0002529  -4.01 0.000  -.0015147 -.0005158
"~ cons '6101923 0236581  25.79  0.000 ‘5634721 6569125
_____________ e

xtreg ci71_74 tfp_go 71 74, fe

ci7l 74 | Coef. Std. Err. t P>t [95% Conf. Interval]
_____________ e

tfp_go 71 _74 -.0016639 .000444 -3.75 0.000 -.0025408 -.0007869
_cons .6749493  .0425912 15.85 0.000 -5908399 . 7590588

itot | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ o

tfp_va_tot .0074052  .0041649 1.78 0.077 -.0008197 .0156301
_cons -.3819408  .4264432 -0.90 0.372 -1.224084 .4602027
_____________ o

xtreg 151 tfp_va 51 if membership==1

tfp_va_51 -.0007991  .0004603 -1.74 0.083 -.0017013 .0001031
S

_con .0960163  .0470319 2.04 0.041 .0038354 .1881972
_____________ A o
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xtreg 151 tfp _go 51 if membership==1

i51 | Coef. Std. Err z P>|z]| [95% Conf. Interval]
_____________ e
tfp_go 51 -.0015748  .0008579 -1.84 0.066 -.0032563 .0001066
—cons .1737222  .0865198 2.01 0.045 .0041466 .3432979
_____________ A
5-2 2004 (12 )

reg i51 tfp va 51 if membership==

i51 | Coef Std. Err t P>|t] [95% Conf. Interval]

_____________ o
tfp_va 51 -.0000511  .0000228 -2.24 0.033 -.0000977 -4.53e-06
_cons .0137174 .002693 5.09 0.000 .008225 .0192099

i51 | Coef Std. Err t P>|t] [95% Conf. Interval]

_____________ o
tfp_go 51 -.0001136  .0000515 -2.20 0.035 -.0002187 -8.49e-06
—cons .0199083  .0055287 3.60 0.001 .0086325 .031184

t51 | Coef. Std. Err. t P>t [95% Conf. Interval]
_____________ o

tfp_va_51 -.0000466 .0000161 -2.90 0.007 -.0000794  -.0000138
_cons .0188364  .0018977 9.93 0.000 .0149661 .0227067

t51 | Coef. Std. Err. t P>|t] [95% Conf. Interval]

_____________ o
tfp_go 51 -.0001099 .0000358 -3.07 0.004 -.0001828 -.0000369
—cons .025151  .0038374 6.55 0.000 .0173244 .0329775

tfp_va_52 9.84e-06  3.03e-06 3.25 0.003 3.67e-06 .000016
S .002137  .0004374 4.89 0.000 .0012449 .0030292

i52 | Coef. Std. Err t P>|t] [95% Conf. Interval]

_____________ o
tfp_go_52 .00002 6.14e-06 3.26 0.003 7.48e-06 .0000325
—cons .0011147 .00074 1.51 0.142 -.0003944 .0026239
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reg t52 tfp va 52 if membership==

152 | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ e
tfp_va_52 9.37e-06 4.87e-06 1.92 0.064 -5.66e-07 .0000193

_cons .0046455  .0007043 6.60 0.000 .003209 .0060819

152 | Coef. Std. Err. t P>t [95% Conf. Interval]
_____________ e

tfp_go_52 .000019  9.89e-06 1.92 0.065 -1.22e-06 .0000391
_cons .0036831  .0011925 3.09 0.004 .0012509 .0061152

cib2 | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ e

tfp_va_52 -.0007011 -00019 -3.69 0.001 -.0010885 -.0003136
_cons .5126808 0274653 18.67 0.000 .4566649 .5686968

cib2 | Coef. Std. Err. t P>1t] [95% Conf. Interval]
_____________ e

tfp_go_52 -.0014372  .0003839 -3.74 0.001 -.0022202 -.0006541
_cons .5869495 .04628 12.68 0.000 .4925608 .6813381

x64 | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ e

tfp_va_64 -.0000642 .0000166 -3.86 0.001 -.0000981  -.0000302
_cons .0169305  .0018352 9.23 0.000 .0131876 .0206734

x64 | Coef. Std. Err. t P>t [95% Conf. Interval]

_____________ e
tfp_go_64 -.0001128  .0000273 -4.14 0.000 -.0001685 -.0000572
_cons .021659  .0028035 7.73 0.000 .0159412 .0273769

t64 | Coef. Std. Err. t P>|t] [95% Conf. Interval]

_____________ e
tfp_va 64 -.000061  .0000157 -3.88 0.001 -.000093 -.0000289
_cons .0274581  .0017346 15.83 0.000 .0239203 .0309959

164 | Coef. Std. Err. t P>t [95% Conf. Interval]
_____________ e

va_con_tf~64 -.0001759  .0000857 -2.05 0.050 -.0003515  -2.70e-07
_cons .0213808  .0007978 26.80 0.000 .0197466 .023015
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reg t64 tfp_go_64 if membership==

t64 | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ e

tfp_go 64 | -.0001067 .0000258  -4.13 0.000  -.0001595  -.000054
~cons 10319039 0026556  12.01  0.000 10264878 .0373201

ci6sd | Coef. Std. Err. t P>t [95% Conf. Interval]
_____________ e

tfp_va_64 -.0015829  .0004111 -3.85 0.001 -.0024213 -.0007446
_cons .6251687 .045334 13.79  0.000 .5327093 .717628

ci6s | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ o

va_con_tf~64 -.0052691 .0021674 -2.43 0.022 -.0097088 -.0008294
_cons .4664052 .02017 23.12 0.000 .4250888 .5077216

ci6sd | Coef. Std. Err. t P>1t] [95% Conf. Interval]
_____________ e

tfp_go_64 -.0027868  .0006737 -4.14  0.000 -.0041607 -.0014128
_cons .7420968  .0692205 10.72  0.000 .6009207 .8832729

ci6s | Coef. Std. Err. t P>|t] [95% Conf. Interval]

_____________ o

go_con_tf~64 -.0034636  .0015051 -2.30 0.034 -.0066256  -.0003016
_cons .3924817  .0085652 45.82 0.000 .374487 .4104765

tfp_va 71 _74 -.0008819  .0001884 -4.68 0.000 -.0012662 -.0004976
_cons .1551885  .0189402 8.19 0.000 .1165597 .1938174

tfp_go 71 74 | -.0020097 .0003918  -5.13 0.000  -.0028087 -.0012107
_cons 12678889  .0391914  6.84 0.000 [1879576  .3478203

go_con_tf~74 -.0011544 0007381 -1.56 0.135 -.002705 .0003962
_cons .0747699 0031088 24.05 0.000 .0682385 .0813013
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reg x71_74 tfp_va 71 74 if membership==

tfp_va 71 74 | -.0011757 .0002474  -4.75 0.000  -.0016802 -.0006711
_cons (1774896  .0248645  7.14  0.000 (1267781  .2282011

tfp_go 71 _74 -.0026563  .0005174 -5.13 0.000 -.0037116 -.001601
_cons .3254469  .0517644 6.29 0.000 .2198727 .4310212

tfp_va_71_74 -.0020576 0004242 -4.85 0.000 -.0029228 -.0011924
_cons .3326781  .0426381 7.80 0.000 .2457171 .4196391

tfp_go 71 _74 -.004666 .0008831 -5.28 0.000 -.0064671 -.0028649
_cons .5933359  .0883456 6.72 0.000 .4131538 .7735179

ci7l 74 | Coef. Std. Err. t P>|t] [95% Conf. Interval]

_____________ e
tfp_va 71 74 -.0018874  .0006186 -3.05 0.005 -.0031491  -.0006258
_cons .6505392 .062177 10.46  0.000 .5237284 77735

ci7l 74 | Coef. Std. Err. t P>t [95% Conf. Interval]

_____________ e
tfp_go 71 74 -.0042764  .0013191 -3.24 0.003 -.0069668 -.0015861
_cons .8892708  .1319652 6.74 0.000 .620126 1.158416

tfp_va_tot .0026751  .0011773 2.27 0.030 .000274 .0050761
_cons .2314284  .1258611 1.84 0.076 -.0252669 .4881237

xtot | Coef. Std. Err. t P>t [95% Conf. Interval]

_____________ e
tfp_va_tot .0024543  .0013438 1.83 0.077 -.0002864 .0051951
_cons .2051753  .1436669 1.43 0.163 -.0878352 .4981858
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reg ttot tfp va tot if membership==

ttot | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ e

tfp_va_tot .0051294  .0025026 2.05 0.049 .0000254 .0102335
_cons .4366004 2675488 1.63 0.113 -.109069 .9822699

5-3 2004 @ )

ci52 | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ e

tfp_va_52 .0027043  .0009556 2.83 0.005 .0008202 .0045883
_cons .1025924  .0981236 1.05 0.297 -.0908628 .2960476

cib2 | Coef. Std. Err. t P>t [95% Conf. Interval]
_____________ e

tfp_go_52 .0048463  .0015617 3.10 0.002 .0017673 .0079253
_cons -.1111007  .1581827 -0.70  0.483 -.4229652 .2007638

cib2 | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ e

go_con_tf~52 -.0020914  .0040713 -0.51 0.608 -.0101189 .005936
_cons .3811334  .0109311 34.87 0.000 .3595804 .4026865

x64 | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ e

go_con_tf~64 .0005744  .0003451 1.66 0.098 -.0001064 .0012552
_cons .0107446 .001501 7.16  0.000 .0077832 .013706

164 | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ e

go_con_tf~64 .0006237  .0003388 1.84 0.067 -.0000447 .0012921
_cons .0161687  .0014736 10.97  0.000 .0132615 .019076

tfp_go_tot .0049418  .0002492 19.83 0.000 .0044294 .0054541
_cons .3129788  .0148484 21.08 0.000 .2824575 .3435001
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reg xtot tfp_go tot if membership==1

xtot | Coef. Std. Err. t P>|t] [95% Conf. Interval]
_____________ e

tfp_go_tot .005755  .0002627  21.90  0.000 .005215  .0062951
“cons .2804289 0156519  17.92  0.000 .2482559 -312602

tfp_go_tot .0106968  .0005072 21.09 0.000 .0096542 .0117394
_cons .5934081  .0302163 19.64 0.000 .5312976 .6555186

citot | Coef. Std. Err. t P>|t] [95% Conf. Interval]

_____________ e
tfp_va_tot .0057696  .0007575 7.62 0.000 .0042761 .0072631
_cons -.0791822  .0759498 -1.04 0.298 -.2289251 .0705606

citot | Coef. Std. Err. t P>1t] [95% Conf. Interval]
_____________ e
va_con_tfp~t .01111  .0028327 3.92 0.000 .0055251 .0166948

_cons 4942175 .003871  127.67 0.000 .4865856 .5018494

citot | Coef. Std. Err. t P>|t] [95% Conf. Interval]

_____________ e
tfp_go_tot .0004477  .0000608 7.36 0.000 .0003227 .0005728
_cons .4703946 .003625 129.76 0.000 .4629432 .4778459



